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BT XA XA 2630 B | B |/KF%| 3,458.00 345800 | R7.5.1 | R18.3.31 105 R7.5.1 | R10.3.31 245
1148 1148

BEMT & =[] 2622 B | B |/KF%| 1,542.00 1,542.00 | R751 | R18.3.31 1119:% R7.5.1 | R10.3.31 Hzfﬁ
BEMT R& ZEHA 2965-1 H | B [/KF&| 7.467.00 7,467.00 | R75.1 | R18.3.31 1119:% R7.5.1 | R10.3.31 Hzfﬁ
BEMT XE & 160—1 B | B |[/KFE| 1,149.00 1,149.00 | R7.5.1 | R18.3.31 1119:% R7.51 | R10.3.31 Hzfﬁ
SERT | ks | Z5E 2061 | B | B |xkH| 287400| 287400| R751 | R18.3.31 1‘1975% R751 | R10.3.31 Hzfﬁ
wmeemr | o2 | v@F | 1220 | B | B | KkEE| 980,00 98000 | R7.5.1 | R18.3.31 1119;*% R751 | R10.3.31 Hzfﬁ
F=E ) =g T & 1152 H | B [/KFE| 949.00 94900 | R7.5.1 | R18.3.31 105 R7.5.1 | R10.3.31 245
114 A 1178

F=E ) =g INEF 1224 H | B [/KFE| 2,342.00 2,34200 | R75.1 | R18.3.31 11197% R7.5.1 | R10.3.31 Hzfﬁ
wgr | ome | MBFE | 1225 | B | B |KHE| 235600 235600 | R751 |R183.31 1119;*% R751 | R10.3.31 Hzfﬁ
F=E ) =g AEY 1035 H | B [/KFE| 1,334.00 1,33400 | R75.1 | R18.3.31 11197% R7.5.1 | R10.3.31 Hzfﬁ
wxpr | =% | MEF | 12281 | B | B |KHE| 200000|  200000| R751 |R18331 111(,’75% R751 | R10.3.31 Hzfﬁ
wxpr | =E | MEF | 12282 | B | B |KHE| 132700]  132700| R751 | R18331 111(,’75% R751 | R10.3.31 Hzfﬁ
wxEr | 2% | e2E@F| 1069 | B | B |[KEE| 125700 125700| R751 | R18331 111(,’75% R751 | R10.3.31 Hzfﬁ
wxEr | 2% | e2E@F| 1070 | B | B |KE| 163900] 163900 R751 | R18331 111(,’75% R751 | R10.3.31 Hzfﬁ
wxEr | =% | wmEw | 1002 | B | B |KE| 1.71500| 171500| R751 | R18.331 111(,’75% R751 | R10.3.31 Hzfﬁ
wxpr | =% | wmEw | 1003 | B | B |K¥EE| 157600 157600| R751 | R18331 111(,’75% R751 | R10.3.31 Hzfﬁ
SR | B2E | mEY 988 | | B || 1,351.00 135100 | R751 |Ri8331| 9% | R7s51 |Ri0331]| 2%
1148 1148

A HT =8 AEY 1018 B | B |/K#E| 1,538.00 1,538.00 | R7.5.1 | R18.3.31 1‘&% R7.5.1 | R10.3.31 Hzfﬁ
A HT =8 AEY 1019 B | B |/K#E| 1,461.00 1,461.00 | R7.5.1 | R18.3.31 105 R7.5.1 | R10.3.31 25
1148 1148

A HT =8 BEY 972 B | B |/K#E| 2,001.00 2,001.00 | R75.1 | R18.3.31 1‘&% R7.5.1 | R10.3.31 Hzfﬁ
A HT =8 AEY 1023 B | B |/K#E| 2,232.00 2,232.00| R75.1 | R18.3.31 1‘&% R7.5.1 | R10.3.31 Hzfﬁ
F=E i) B EEY 1024 H | B [/KFE| 2,269.00 2,269.00 | R75.1 | R18.3.31 1119;% R7.5.1 | R10.3.31 ”2fﬁ
F=E i) B BEY 978 H | BH [/KF§| 1,841.00 1,841.00 | R75.1 | R18.3.31 105 R7.5.1 | R10.3.31 25
118 1148

F=E i) B BEY 979 H | B [/K%§| 1,906.00 1,906.00 | R7.5.1 | R18.3.31 1119;% R7.5.1 | R10.3.31 ”2fﬁ
F=E i) B k=S 1101 H | B [/K%§| 2459.00 2,459.00 | R75.1 | R18.3.31 105 R7.5.1 | R10.3.31 25
118 1148

F=E i) B LR 1170 B | B [/K#fE| 640.00 640.00 | R7.51 | R18.3.31 1119;% R7.5.1 | R10.3.31 ”2fﬁ
F=E i) B T8 1139 B | B [/K%E| 2,138.00 2,138.00 | R751 | R18.3.31 105 R7.5.1 | R10.3.31 25
118 1148

F=E 1] B T &8 1142 B | B [/K%E| 1,469.00 1,469.00 | R7.5.1 | R18.3.31 105 R7.5.1 | R10.3.31 25
118 1148

F=E 1] B T &8 1148 B | B [/K%E| 3,077.00 3,077.00 | R751 | R18.3.31 105 R7.5.1 | R10.3.31 25
118 1148

F=E 1] A B 2884 H | B [/KF§| 2596.00 2,596.00 | R75.1 | R18.3.31 105 R7.5.1 | R10.3.31 25
118 1148

F=E 1] HE ER 3426-1 B | B [/KFfE| 401.00 401.00 | R751 | R18.3.31 105 R7.5.1 | R10.3.31 25
118 1148

F=E 1] HE ER 3427-1 B | B [/KFfE| 381.00 381.00 | R751 | R18.3.31 105 R7.5.1 | R10.3.31 25
118 1148

b=E 1] HE ER 3427-2 | B | A |/KFE| 182.00 182.00 | R7.5.1 | R18.3.31 105 R7.5.1 | R10.3.31 25
1178 1148

b=E 1] HE ER 3428-1 H | H [/KFE| 347.00 34700 | R75.1 | R18.3.31 ﬂffﬁ R7.5.1 | R10.3.31 112fﬁ
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#hB |[# B [ (m)
b=E 1] HE ER 3428-2 | A | A |/KF| 218.00 21800 | R7.5.1 | R18.3.31 105 R7.5.1 | R10.3.31 25
1148 1148
AT HE ER 3429-1 H | B [/KFE| 304.00 30400 | R75.1 | R18.3.31 105 R7.5.1 | R10.3.31 25
1148 1148
) s _ = 104 24F
b= 1] HE &R 3429-2 | B | B |/KFE| 236.00 236.00 | R75.1 | R18.3.31 R7.5.1 | R10.3.31
1148 1148
) s _ o 104 24F
b=E 1] HE &R 3432-1 H | H [/KFE| 276.00 276.00 | R7.5.1 | R18.3.31 R7.5.1 | R10.3.31
1148 1148
) s _ = 104 24F
b=E 1] HE &R 3432-2 | B | B |/K#| 135.00 13500 | R7.5.1 | R18.3.31 R7.5.1 | R10.3.31
1148 1148
AT £A HEHT 1210 B | B [/K%E| 2,460.00 246000 | R751 | R18.3.31 11197% R7.5.1 | R10.3.31 Hzfﬁ
o ~ , - 105 25
AT £ HEHT 1211 B | B [/KFE| 1,997.00 1,997.00 | R7.5.1 | R18.3.31 1145 R7.5.1 | R10.3.31 115 B
AT = WMHF 1341 H | B |/KF%| 1,459.00 1,459.00 | H29.2.15 | R8.12.31 s R7.51 | R8.12.31 14
1048 8+ B
AT B4 5% 316 B | B |/K#E| 2441.00 244100 | R25.15 | R125.14| 105 R7.5.1 | R8.3.31 Hofﬁ
EEEET =P KEsE 392 B | B |/K#| 1,350.00 1,350.00 | R25.15 | R125.14 | 10& R7.5.1 | R8.3.31 Hofﬁ
AT FiA KiE i 1100 M | B |[/KFE| 2,260.00 2,260.00 | H29.2.15 | R9.2.14 | 104 R7.5.1 R9.2.14 gfﬁ
AT FiA AR 1094 M | B [/KFE| 1,378.00 1,378.00 | H29.2.15 | R9.2.14 | 104 R7.5.1 R9.2.14 gfﬁ
AT | EEF TR 703 B | B [/KFE| 2,336.00 2,336.00 | H29.2.15 | R9.2.14 | 104 R75.1 | R9.2.14 gﬁq
AT | EEF AR 704 B | B |/KF%| 2,205.00 2,205.00 | H29.2.15 | R9.2.14 104 R7.5.1 R9.2.14 gﬁq
AT | EEF AR 705 B | B |/KF%| 2,165.00 2,165.00 | H29.2.15 | R9.2.14 104 R7.5.1 R9.2.14 gﬁq
AT = i F 1300 M | B [/KFfE| 960.00 960.00 | H29.2.15 | R9.2.14 | 104 R7.5.1 R9.2.14 gﬁq
AT B4 HAH 373 H | B |[/KFE| 1,910.00 1,910.00 | H29.2.15 | R9.2.14 | 104 R7.5.1 R9.2.14 gﬁq
BEMT B4 bEEE 384 H | B [/KF&| 1,134.00 1,134.00 | H29.2.15| R9.2.14 | 104 R75.1 | R9.2.14 gﬁzj
BEMT B4 bEEE 393 B | B [/KF| 780.00 780.00 | H29.2.15 | R9.2.14 | 104 R75.1 | R9.2.14 gﬁzj
AT Bith =fH 1270 H A |/KFg| 1,557.00 1,557.00 | H29.5.15 | R9.5.14 104 R7.5.1 R9.5.14 24
AT Bith =fH 1271 2] A | KFg| 1,199.00 1,199.00 | H29.5.15 | R9.5.14 104 R7.5.1 R9.5.14 24
BEMT o =3l 236 H | B |/K%| 397.00 397.00 | R1.12.15 [R11.12.14| 104 R7.5.1 R8.3.31 Hofﬁ
F=E ) XE ZE/AR | 1000-1 H | B |/K#E| 688.00 688.00 | H30.4.15 | R10.4.14 | 104 R7.51 | R104.14| ffﬁ
F=E ) P 1L 620 B | B |/K#E| 222800 2,228.00 | H30.4.15 | R10.4.14 | 105 R7.5.1 | R10.4.14 Hzfﬁ
F=E ) PUE 1L 621 B | B |/K#E| 221600 2,216.00 | H30.4.15 | R10.4.14 | 105 R7.5.1 | R10.4.14 Hzfﬁ
" EadiE _ - 104 0%
F=E ) i = 305-2 H | B [/KF§| 1,186.00 1,186.00 | R5.1.1 | R15.3.31 30 H R7.5.1 R8.3.31 115 A
" EadiE _ - 104 0%
F=E ) i = 309-1 H | B [/K#E| 820.00 820.00 | R5.1.1 | R15.3.31 30 H R7.5.1 R8.3.31 115 A
F=E i1 HE KiFK 3478 B | B |/K#s| 1,163.00 1,163.00 | H30.1.15 | R10.1.14 | 104 R7.5.1 | R10.1.14 ;ﬁq
F=E 1) HAE EXHT 2681 B | B |/K%E| 1,586.00 1,586.00 | R3.1.1 [R12.12.31| 10& R7.5.1 | R9.3.31 H‘fﬁ
F=E 1) HAE EXHT 2682 B | B |/K#E| 1,063.00 1,063.00 | R3.1.1 [R12.12.31| 10%& R7.5.1 | R9.3.31 H‘fﬁ
F=E 1) H HHE 353 M | B |/KFE| 218.00 21800 | R3.4.1 | R13.3.31| 104 R7.5.1 | R9.3.31 H‘fﬁ
F=E 1) H HHE 354 B | B |/KHE| 1,927.00 1,927.00| R3.41 | R13331| 10& R7.5.1 | R9.3.31 H‘fﬁ
F=E 1) o T 231-1 B | B |/K#E| 1,223.00 1,223.00 | R1.12.15 [R11.12.14| 10%& R7.5.1 | R8.3.31 1?fﬁ
SR | At 1441 | B | B |K¥E| 133400 133400 | H29.2.15 | Re.12.31 | 9% | R751 |Ret23t| 1%
104 A 8~ A
A HT 1 E7] 323-2 B | B |/K#E| 1,256.00 1,256.00 | H29.2.15 | R8.12.31 1&% R7.5.1 | R8.12.31 8‘:%
o EAT§E - 104 0%
A HT 1 = 308 H | B |/K#E| 1,166.00 1,166.00 | R5.1.1 | R15.3.31 35 B R7.5.1 | R8331 | s
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b=E 1] A =00 2552 | 4B [EF3E| 1,586.00 1,586.00 | H30.5.15 | R10.5.14 | 10& R751 | R10514| 3%
AT £A HEHT 1218 B | B [/KFE| 1,170.00 1,170.00 | R3.12.1 |R13.11.30| 104 R7.51 | R10.3.31 11Zfﬁ
b= 1] £A HEHT 1233 B | B [/KFE| 1,265.00 1,265.00 | R3.12.1 |R13.11.30| 104 R7.51 | R10.3.31 11Zfﬁ
b=E 1] £A HEHT 1241 B | B [/KFE| 1,169.00 1,169.00 | R3.12.1 |R13.11.30| 104 R7.51 | R10.3.31 11Zfﬁ
b=E 1] B4 (=) 327 B | B [/KFE| 1,331.00 1,331.00 | R2.3.15 | R12.3.14 | 10& R7.5.1 | R8.3.31 110,%
AT =S TEESHE | 280-2 B | B [/KFE| 423.00 42300 | H30.1.15 | R10.1.14 | 104 R7.5.1 | R10.1.14 sﬁ
AT =S A5} 88-6 B | B [/KFE| 1,128.00 1,128.00 | R5.1.1 | R15.3.31 105 R7.5.1 | R8.3.31 0%
, , 37 A 117 A8
AT =S A5} 89-6 B | B [/KFE| 826.00 826.00 | R5.1.1 | R15.3.31 105 R7.5.1 | R8.3.31 0%
37 A 1148
AT XE R e 167-1 B | B |/K#| 1,157.00 1,157.00 | R2.3.15 | R12.3.14 | 10& R7.5.1 | R8.3.31 1f’fﬁ
AT XE e 167-2 B | B |/K#| 1,175.00 1,175.00 | R2.3.15 | R12.3.14 | 10& R7.5.1 | R8.3.31 1f’fﬁ
o — ~ - 105 0%
AT 1 Ea 319-3 B | B [/KFfE| 647.00 420.00| R5.1.1 | R15.3.31 R7.5.1 R8.3.31
37 A 1148
AT HE T 747 B | B [/KFE| 1,140.00 1,140.00 | H29.2.15 | R8.12.31 o%F R7.5.1 | R8.12.31 14
140. 140. 2. 12. 104 B 5. 12. 85 H
b= i) o JIIRH 184-1 M | B [/KFE| 1,370.00 1,370.00 | R7.1.1 | R17.3.31 105 R7.51 | R10.3.31 25
37 A 1148
= - = 104F 24
b= 1] o JIIRHE 180-1 B | B |/K#| 793.00 793.00 | R7.1.1 | R17.3.31 R7.5.1 | R10.3.31
37 A 1148
= - = 104F 24
AT ,H ALt 153-1 B | B |/K%| 303.00 30300| R7.1.1 | R17.3.31 R7.5.1 | R10.3.31
37 A 1148
L ~ - 105 25
AT ,H ALt 154—1 B | B |/K%| 150.00 150.00 | R7.1.1 | R17.3.31 R7.5.1 | R10.3.31
37 A 1148
AT XE B2 59-1 M | B [/KFfE| 537.00 537.00 | H30.4.15 | R10.4.14 | 104 R7.51 | R10.4.14 ’ ffﬁ
BEMT o 53 ;'ﬁ 300-1 H | B |/K%| 395.00 395.00 |H27.12.15| R7.12.14 | 104 R7.51 | R7.12.14 797&%
BEMT o Eﬁ;ﬁ 300-3 H | B |/K%| 684.00 684.00 |H27.12.15| R7.12.14 | 104 R75.1 | R7.12.14 797&%
BEMT ,H ALt 148-1 B | B |/KF| 1,501.00 1,501.00 | H28.2.15 | R8.2.14 105 R7.5.1 R8.2.14 gﬁzj
BEMT o ALt 151-1 M | B [/KFE| 3,299.00 3,299.00 | H28.2.15 | R8.2.14 105 R7.5.1 R8.2.14 gﬁzj
BEMT o =i 163-1 H | B [/KF&| 1,258.00 1,258.00 | H28.2.15| R8.2.14 | 104 R75.1 | R8.2.14 gﬁzj
F=E ) =10 RE4 1R 266 H | B |/K#E| 2609.00 2,609.00 | H28.2.15 | R8.2.14 | 104 R75.1 | R8.2.14 gﬁq
F=E ) B WHF 1343 H | B |/K#E| 965.00 965.00 | R2.6.15 | R12.6.14| 104 R7.5.1 | R8.3.31 Hofﬁ
F=E ) = (=Y ES 328 B | B [/KFE| 2527.00 252700 | R2.6.15 | R126.14 | 105 R7.5.1 | R8.3.31 If’fﬁ
F=E ) = T 4% 319 B | B [/KFE| 1,428.00 1,428.00 | R2.6.15 | R12.6.14 | 10% R7.5.1 | R8.3.31 Hofﬁ
F=E ) = T4 322 B | B [/KF| 1,653.00 1,653.00 | H29.4.15 | R9.4.14 | 10% R7.51 | RO.4.14 | 113;1
" - - 104 15
F=E ) XE =0 1 H | B [/KFE| 2,391.00 2391.00| R6.1.1 | R16.3.31 R7.5.1 R9.3.31
35 A 1145 A
LU CE=| _ ] 1051:— 155‘:—
F=E 1) XE b=1 1 60-1 H | B [/K#E| 760.00 76000 | R6.1.1 | R16.3.31 R7.5.1 R9.3.31
3v A 1148
BERT | A E=R 6i-1 | m | m |xi@| 1.18000| 118000| Ret1 |Ri6331| JOF | R7s51 | Rosat | IF
’ ’ 37 R - " 1148
BERT | A E=R 62-2 | m | m |xiE| 1.18000| 118000| Re11 |R16331| J°F | R751 | Rosat | L IF
34 A 1148
o EAtiE i - 104 0%
F=E 1) o = 310-1 H | B [/K%§| 1,289.00 1,289.00 | R5.1.1 | R15.3.31 30 H R7.5.1 R8.3.31 11 B
BERT | HH FEE 320 | B | B |KiE| 83400 83400 | Ra11.1 | R15331| 9% | R7s51 | Resst | OF
54 H 1148
BERT | HH FEE 319-4 | @ | @ || 684.00 68400 | R5.1.1 | R15331| JO% | R7s1 | Resst | OF
34 A 1178
A HT HE T 750~1 H | B [/KHE| 91200 91200 | R3.4.1 | R13.3.31| 104 R7.5.1 | R9.3.31 ”‘fﬁ
A HT =10 &R 181-1 B | B |/K#E| 1,458.00 1,458.00 | R1.12.15 [R11.12.14| 10%& R7.5.1 | R8.3.31 Hofﬁ




THDERT | N . HAEE A EIEICER T SHEFI | BN BMEE ICERTE I SR

mar | k¥ | ¥ | & |GEIRRNS) BEE) REER ) um | emm | wwm | ww | w8 | m
AT = FR 183-2 H | B |K#E| 74200 742.00 | R1.12.15 |R11.12.14| 104 R7.5.1 | R8.3.31 1?,%
=XET | =W R 183-7 | B | B [/KFE| 737.00 737.00 | R1.12.15 |R11.12.14| 104 | R75.1 | R8.3.31 1?,%
o3 =11 E& 184-11 | B | B |/KF| 1,930.00 1,930.00 | R1.12.15 [R11.12.14| 104 | R7.5.1 | R8.3.31 110,%
A XHT =10 THEESIE | 278-2 B | B [/K#E| 28000 280.00 [ H29.4.15 | R9.4.14 | 104 R75.1 | R9.4.14 111,%
E=E i) i JRE 177-4 | B | B |/KFE| 2,374.00 2,02000 | R3.4.1 |R133.31| 10& | R751 | R9.3.31 111,%
A XHT e [£7] 326 H | B |/K%E| 1,101.00 1,101.00 | H30.1.15 | R10.1.14 | 104 R7.5.1 | R10.1.14 sﬁ
axfT | B | TRy | 2792 | H | B |KFE| 616.00 616.00 | R1.12.15 [R11.12.14| 104 | R7.5.1 | R8.3.31 Hofﬁ
& XHT KE =LA 6-1 B | B |/K%&E| 1,091.00 1,091.00 [H27.12.15| R7.12.14 | 104 R7.5.1 | R7.12.14 797%
HERT 5H JRH 1040 B | B [/K%E| 1,780.00 1,780.00 | H29.4.15 | R9.4.14 | 104 R75.1 | R9.4.14 111fﬁ
HERT 5H JRH 1041 H | B [/K%E| 2,078.00 2,078.00 | H29.4.15 | R9.4.14 | 104 R75.1 | R9.4.14 111fﬁ
AEHT ik R H 1039 H | B [/KFE| 850.00 850.00 | H29.4.15 | R9.4.14 | 104 | R75.1 | R9.4.14 111fﬁ
B 3RHT TFH e 2356 B | B |/K%E| 1,351.00 1,351.00 | H29.5.15 | R9.5.14 | 104 R7.5.1 | R9.5.14 24F
B 3RHT HFH e 2359 B | B [/KFE| 853.00 853.00 [ H29.5.15 | R9.5.14 | 104 R75.1 | R9.5.14 24F
wmr | xE (Y- 61-2 | H | H |/K#| 890.00 890.00 | H30.4.15 | R10.4.14 | 104 | R7.5.1 |R104.14 112,%
E=E=li) M FE7] 327 B | B [/KFgE| 1,003.00 1,003.00 | H29.3.15 | R9.3.14 | 104 | R751 | R9.3.14 ﬂfﬁ
E=E=li) M FE7] 320-3 | B | @B |/k#gE| 1,078.00 1,078.00 | H29.3.15 | R9.3.14 | 104 | R751 | R9.3.14 ﬂfﬁ
B 3RHT HE Y 3465 B | B |/K#E| 169.00 169.00 | H30.5.15 | R10.5.14 | 104 R75.1 |R105.14| 34
AxET 5H JRH 1030 B | B |[/KFE| 1.616.00 1,616.00 | H29.4.15 | R9.4.14 | 104 R7.5.1 | R9.4.14 111%51
AT B4 = 354 B | B [/K%E| 2313.00 200000 | R621 |Ri5331| 1OF R7.5.1 | R8.3.31 0%
: ' 25 A 1178

AT B4 = 355 B | B [/K%E| 3216.00 271000 | Rs21 |Ri5331| 1OF R7.5.1 | R8.3.31 0%
, , 24 H 1148

A xET 5H JhH 1038 B | B [/KFE| 1,716.00 1,716.00 | H29.4.15 | R9.4.14 | 104 R7.5.1 | R9.4.14 11117%
=XET | R4A ZH 407 BH | B |KFE| 189800 1,898.00 | H29.4.15 | R9.4.14 | 10 | R75.1 | R9.4.14 111fﬁ
=T B4 bEEE 394 B | B |/K%E| 1988.00 1,988.00 [ H29.4.15 | R9.414 | 104 | R751 | R9.4.14 ”fﬁ
sesemr =1 RIS 525 H | B |[/KFE| 212500 212500 | R2.3.15 | R123.14| 104 | R751 | R8.331 ”ofﬁ
=T =i Fa AR 15 524 B | B |K%E| 899.00 899.00 [ H29.4.15 | R9.4.14 | 104 R751 | R9.4.14 ”fﬁ
E=E ] B4 =k 329 B | B |/K%E| 2791.00 2,791.00 | H29.4.15 | R9.4.14 | 104 R75.1 | R9.4.14 ”fﬁ
=XE | RA T 321 B | B |/KfE| 169500 1,695.00 | H29.415 | R9.4.14 | 10% | R75.1 | R9.4.14 H‘fﬁ
=T S FEF] 328 B | B |K%E| 863.00 863.00 [ H29.3.15 | R9.3.14 | 104 | R75.1 | R9.3.14 Hfﬁ
HEET | i3 FET] 331-3 | B | @ |Kk¥E| 574.00 57400 | R6.4.15 | R17.3.31 111975% R751 | R9.3.31 H‘fﬁ
aEMET | EHESF bk 800 B | B |[/KFE| 1,229.00 1,229.00 | R2.4.15 | R12.414| 104 R7.5.1 | R8.3.31 Hofﬁ
aEMET | EHESF bk 818 B | @ || 690.00 690.00 [ R3.7.1 | R13.6.30 | 104 R7.5.1 | R9.3.31 H‘fﬁ
aXE | ERETF | TAR 717 B | B |K7E| 226500 2,26500 | R3.7.1 | R13.6.30 | 104 | R75.1 | R9.3.31 H‘fﬁ
aXEET | EEF | FAR 718 B | B |[/KFE| 2429.00 2,429.00 | R3.7.1 | R13.6.30 | 104 R7.5.1 | R9.3.31 H‘fﬁ
aXE | ERETF | TAR 722 B | B |/K#FE| 1901.00 1,901.00 | R3.71 | R13.6.30| 104 | R751 | R9.3.31 “fﬁ
AT ETEas T 241-1 B | B [/KFE| 1,049.00 1,049.00 | H29.4.15 | R9.4.14 | 104 R7.51 | R9.4.14 11‘,%
EXRET | A TEN | 2431 | B | B |KFE| 506.00 506.00 | H29.4.15 | R9.4.14 | 104 | R75.1 | R9.4.14 11‘,%




THDRE e ‘ N . HEE L BERBICERTE T DEF | BB FMEEICERTE T DIEF
HETH | AT = g |ZEC|BR|\AE| BEE | BRER | e | owm | en | mm | em | axn
#hB |[# B [ (m)
b=E 1] i Eé‘;'ﬁ 305-1 B | B [/KFE| 1,310.00 1,310.00 | H29.4.15 | R9.4.14 | 10& R75.1 | R9.4.14 111,%
o — ~ - 105 0%
AT i EF] 319-2 B | B [/K%E| 1,183.00 1,183.00 | R5.1.1 | R15.3.31 R7.5.1 R8.3.31
37 B 1148
b= 1] HE K&K 3481 H | B [/KFE| 939.00 939.00 | H29.3.15 | R8.12.31 s R7.5.1 | R8.12.31 14
94 B 8+ B
b=E 1] HE e 3469 B | B [/KFE| 1,925.00 1,925.00 | H28.2.15 | R8.2.14 | 10& R75.1 | R8.2.14 gc,’fﬁ
b=E 1] = WHF 1342 B | B [/KFE| 2175.00 217500 | R2.1.15 | R12.1.14| 105 R7.5.1 | R9.3.31 111,%
AT | EEF AR 713 B | B |/K#| 2,103.00 2,103.00 |H27.12.15| R7.12.14 | 10& R7.51 | R7.12.14 797%
AT | EEF AR 714 B | B |/K#E| 2,174.00 2,174.00 |H27.12.15| R7.12.14 | 105 R7.5.1 | R7.12.14 797%
AT | EEF AR 715-1 B | B |/K#E| 863.00 863.00 |H27.12.15| R7.12.14 | 10& R7.5.1 | R7.12.14 797%
AT | EEF AR 715-2 B | B |/K#s| 1,200.00 1,200.00 |H27.12.15| R7.12.14 | 10%& R7.5.1 | R7.12.14 797%
AT | EEF AR 721 B | B |/K#| 700.00 700.00 |H27.12.15| R7.12.14 | 104 R7.5.1 | R7.12.14 797%
AT AE 58 63-2 H | B |/K#E| 892.00 892.00 | H30.4.15 | R10.4.14 | 104 R7.5.1 | R10.4.14 ”sz
AT AE ZEB/K 994-1 H | B |/K#E| 1,296.00 1,296.00 | H30.4.15 | R10.4.14 | 10%& R7.51 | R104.14 | ffﬁ
b= i) AE ZEB/K 999-1 H | B |/K#| 831.00 831.00 | H30.4.15 | R10.4.14 | 105 R7.51 | R104.14 | ffﬁ
b= 1] XE N H 207-1 H | B |[/KFE| 1,177.00 1,177.00 | H30.4.15 | R10.4.14 | 104 R7.51 | R10.4.14 Hzfﬁ
AT XE =10 4 M | B |[/KFE| 2,348.00 234800 | R2.1.15 | R12.1.14| 104 R7.5.1 R8.3.31 Hofﬁ
AT | EEF k- 801 H | B |[/KFE| 2514.00 251400 | R2.4.15 | R124.14| 104 R7.5.1 R8.3.31 Hofﬁ
AT | EEF k- 814 H | B |/KFE| 2413.00 2413.00 | R2.4.15 | R124.14| 104 R7.5.1 R8.3.31 Hofﬁ
AR | EEF k= 815 B | B [/KFE| 2407.00 2407.00 | R2.4.15 | R124.14 | 104 R7.5.1 R8.3.31 Hofﬁ
AR | EEF k= 806 M | B [/KFE| 1,985.00 1,985.00 | H29.1.15 | R9.1.14 | 104 R7.5.1 R9.1.14 gﬁzj
AERT | EEF k= 811 B | B [/KF| 1,872.00 1,872.00 | H29.1.15 | R9.1.14 | 104 R7.5.1 R9.1.14 gﬁzj
BEMT = THREH LT 275-1 B | B |[/KFE| 1,745.00 1,745.00 | H29.4.15 | R9.4.14 | 104 R7.5.1 R9.4.14 ’ :fﬁ
BEMT = THREH LT 277-1 B | B |/KFE| 1,240.00 1,240.00 |H27.12.15| R7.12.14 | 104 R75.1 | R7.12.14 797&%
F=E ) RE FRELF 70-1 B | B [/KF| 398.00 398.00 | H30.5.15 | R10.5.14 | 104 R75.1 | R105.14| 3%
S HT 2 | FTEHE 1000 | B | B K| 60000 60000 | R611 | R16331| 1OF | R7s51 | Rosat | IF
35 A 1145 A
F=E ) =) TREHA 998 H | B [/KFE| 1,908.00 1,908.00 | R6.1.1 | R16.3.31 105 R7.5.1 | R9.3.31 14
35 A 1145 A
F=E i1 = RIR 1009 H | B [/KFE| 1,643.00 1,643.00| R6.1.1 | R16.3.31 105 R7.5.1 | R9.3.31 14
35 A 1145 A
F=E ) XE RELF 71-1 B | B [/KFE| 345.00 34500 | H28.3.15 | R8.3.14 | 104 R75.1 | R8.3.14 18,%
F=E ) BE o E 1146 B | B [/KF| 3,317.00 3,317.00 | H30.1.15 | R10.1.14 | 105 R7.5.1 | R10.1.14 Sﬁq
F=E 1) FiA KB 1099 B | B |/K%§| 1,080.00 1,080.00 | R5.6.15 | R15.3.31 s R7.5.1 | R8.3.31 0%
94 H 1148
F=E 1) P BHELEFIL | 2545-2 | 4@ | A |EF3| 450.00 45000 | R2.1.15 | R12.1.14| 104 R7.5.1 | R8.3.31 Hofﬁ
F=E 1) P H L Ep L 2546 M| 4B [ EFE| 1,813.00 1,813.00 | R2.1.15 | R12.1.14 | 10%& R7.5.1 | R8.3.31 Hofﬁ
F=E 1) P HLIEEPIL | 2545-1 M| 48 |EFE| 877.00 877.00 | R2.1.15 | R12.1.14| 104 R7.5.1 | R8.3.31 Hofﬁ
L LU iih | _ T 105 24
F=E 1) =8 T &8 1137-1 H | B [/K%§| 1,483.00 1,483.00 | R7.5.1 | R18.3.31 R7.51 | R10.3.31
1148 1148
SERT | HE +# | 11372 | ®m | ® |K#E| 100000 100000| R751 | Ri8331| 9% | Ris1 | Ri0331]|  2F
1148 1148
A HT =8 BEY 974 H | B |/K#E| 2,819.00 2,819.00 | R75.1 | R18.3.31 105 R7.5.1 | R10.3.31 25
1148 1148
A HT =% mAiEEF 1125 H | B |/K%E| 3,608.00 3,608.00 | R75.1 | R18.3.31 1‘&% R7.5.1 | R10.3.31 Hzfﬁ




THDRE e ‘ | s . HEE L BERBICERTE T DEF | BB FMEEICERTE T DIEF
HETH | AT = g |2k RR\NE| BREE | RREE | e | owm | sm | ome | gm | £
#hB |[# B [ (m)
b=E 1] BE T8 1144-1 B | B [/KFE| 136.00 136.00 | R7.5.1 | R18.3.31 105 R7.5.1 | R10.3.31 25
1148 1148
AT B T8 1144-2 | B | B |/K¥%g&| 4,000.00 4,000.00 | R7.5.1 | R18.3.31 105 R7.5.1 | R10.3.31 25
1148 1148
b= 1] B T8 1145 B | B [/KFE| 2207.00 2,207.00 | R751 | R18.3.31 105 R7.5.1 | R10.3.31 25
1148 1148
b=E 1] hma L 611 B | B [/KFE| 1,847.00 1,847.00 | R751 | R18.3.31 105 R7.51 | R10.3.31 25
4 847. 847, 5. 3. 1158 5. 3. Ty
b=E 1] =S IMEH 198-1 B | B [/KFE| 2490.00 249000 | R751 | R18.3.31 105 R7.5.1 | R10.3.31 25
1148 1148
AT BE =8 978 B | B [/KFE| 360.00 360.00 | R7.51 | R18.3.31 105 R7.5.1 | R10.3.31 25
. . 5. 3. 1158 5. 3. Ty
o e " - 104E 25
AT BE =8 979 H | B |/KFg| 1,602.00 1,602.00 | R7.5.1 | R18.3.31 R7.5.1 | R10.3.31
1148 1148
AT BE Pt 987 A | B |/KFE| 211000 2,110.00 | R75.1 | R18.3.31 105 R7.5.1 | R10.3.31 25
110. 110. 5. 3. 115 8 5. 3. 115 B
AT BE J\IET 83-4 A | B |/KFE| 1,476.00 1,476.00 | R7.5.1 | R18.3.31 111(,);2 R7.5.1 | R10.3.31 112,%
AT BE $EIR O 235-1 A | B |/KFE| 2007.00 2,007.00 | R5.2.1 | R15.3.31 105 R7.5.1 | R10.3.31 25
27 A 1148
AT 1 RERK 2-2 A | B [/KF| 2,004.00 2,004.00 | R2.2.15 | R12.2.14| 104 R75.1 | R12.2.14 ;ﬁq
" = N - 104E 25
AT = 7y A 856 B | B [/KFE| 1,753.00 1,753.00 | R751 | R18.3.31 R7.5.1 | R10.3.31
1148 1148
" = N . 104 25
b= i) =) HsB 857 A | B |/KFE| 2023.00 1,823.00 | R75.1 | R18.3.31 R7.5.1 | R10.3.31
1148 1148
b= 1] L5 11k 399 | B | EF3| 1,375.00 950.00 | H31.4.15 | R11.4.14 | 104 R7.51 | R11.4.14 ’ ffﬁ
283,355m




